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Unit 1
WHAT IS ECONOMICS ABOUT?

iy LB Rl B

Learning outcomes

After studying this unit you should be able to:

1) define economics as a social science of scarcity and choice;
2) identify the ways society uses its scarce resources;

ty’s needs and wants;

3) distinguish between socie
in speaking and w riting;

4) use the active vocabulary of the unit
5) read for different purposes (skimming, scanning);
6) use grammar effectively (subject/verb agreement, singular/plural
forms of a noun, prepositions).
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Lead-in
1. Read the following sentences and decide which word from
the list a—d is synonymous to the word in bold.
¢ merchandise that you a) insufficient
Stuff like jewellery, b) non-physical
n CD’s are all tan- ¢) plentiful
d) physical

1. Tangible goods ar
can put your hands on.
computers, clothing or eve
gible products. __ _

2. On the other side of tangible are intangi-
ble goods which are products that cannot be
seen or touched. Things like domain names
or computer programs are intangible goods.

3. Libya, Saudi Arabia, Kuwait, any other
Arabic nations have abundant oil resources.
They are the main exporters of oil and its
derivatives.

4. Many African nations suffer from limited
resources such as water and food, so these
scarce resources pul tight constraints on
their social and economic development.
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9. Answer the questions and do the tasks.

{. Think of some of your most important needs and wants, and
[l:l{‘l1 explain whether these are satisfied by goods or by ser-
vices. | )

. [?t‘_\-'“lt'l guess why services are called “non-physical activi-
rres™, ;

3 Think of some resources that are (a) scarce and (b) abun-
dant.

4. What would happen to our society if resources were unlim-

ited?

B IS it _p()smlﬂc to overcome scarcity of resources? Justify your
opinion. l K13
TOPICS

Text A

fi Defining economics

1. The social sciences are academic disciplines that study
h}lman :s(.)cimy and social relationships. They are concerned with
discovering general principles describing how societies i'uﬁﬂ ion
and are orga nised. The social sciences include anthropology, eco-
nolzncs.Jmliti(‘zll science, psychology and sociology.

2. ) Economics is a social science because its approach to
studying human society is based on the scientific method. It is
’flso('ial science because it deals with human society and I.)(‘:h'.l\-';
iour, and particularly those aspects concerned with how pe{)calt‘
organise their activities and how they behave in order to s r“- (
their needs and wants. : i

3. Human beings have very many needs and wants. Some of
Fhese are satisfied by physical objects and others by ncm;ph.\«'%-
ical activities. All the physical objects people need and \"‘ﬂl‘nt
are (‘31111('(1 goods (food, clothing, houses, books, computers c;tr%
televisions, refrigerators and so on); the non-physical at'li'\-'i!il;"‘:
are called services (education, health care, entertainment Lr"-n\.-'(‘i
banking, insurance and many more). e o]

4. The study of economics arises because people’s needs and
wants are unlimited. Whereas some individuals may be “i;-ll'hi‘iﬁt‘(l
with the goods and services they have or can buy, me w.ti 1d
prefer to have more. ‘ Torl s thot i
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5. They would like to have more and better computers, cars,
educational services, transport services, housing, recreation,
travel and so on; the list is endless.

6. Yet it is not possible for societies and the people within
them to produce or buy all the things they want. Why is this
so? It is because there are not enough resources. Resources are
the inputs used to produce goods and services wanted by people.
They include things like human labour, machines and factories,
and “gifts of nature” like agricultural land and metals inside the
earth. Resources do not exist in unlimited abundance: they are
scarce, or limited and insufficient in relation to unlimited uses
that people have for them.

7. Scarcity is a very important concept in economics. It
arises whenever there is not enough of something in relation to
the need for it. For example, we could say that food is scarce
in poor countries. Or we could say that clean air is scarce in
a polluted city. In economics, scarcity is especially important
in describing the condition of insufficient resources, because the
scarcity of resources Causes scarcity in goods and services. Defin-
ing scarcity, we can therefore say that: Scarcity is the condition
in which available resources are not enough to produce every-
thing that human beings need and want.

8 Tt follows that societies face a fundamental problem,
which is the contlict between unlimited human needs and wants
on the one hand, and limited or scarce Tesources on the other.
The subject of economics is how to best resolve this conflict.

9. The conflict between unlimited needs and wants, and
scarce resources has an important consequence. Since people
can’t have everything they want, they must make choices. The
classic example of a choice forced on society by resource scar-
city is that of “guns or butter”, or more realistically the choice
between producing defence goods (guns, weapons, tanks) or

food: more defence goods mean less food, while more food means
fewer defence goods. Societies must choose how much of each
they want to have. Note that if there were no resource scarcity,
4 choice would not be necessary, since society could produce as
much of each as was desired. But resource scarcity forces the
society to make a choice between available alternatives. Eco-
nomics is therefore a study of choices.
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10. The conflict between unlimited needs and wants, and
gcarce resources has a second important consequence .*’;;f:]]:‘(\
resources are scarce, it is important to avoid waste in Im.\\j l|'|(‘i"
are used. If resources are not used effectively and are wasted
ghey will end up producing less; or they may ‘end up [)l'(l(l(l;{':_:l ;
good_s and services that people don’t really want or need l*"m%j
pomics must try to find how best to use SCATCe Tesources .s“(} ;}}'-11
waste can be avoided. Defining economics, we can thrc-fﬁr(- \1 -
that: ¥

Er:fn'zmnfr:s is the study of choices leading to the best possible
use of scarce resources in order to best satisfy unlimited hu.m'm
needs and wants. 3 .

_ 11. As you can see from this definition of economics, econo-
mists study the world from a social perspective, with Li\l‘ objec-
tive of determining what is in society’s best intt"rc.-sL:«“ e

Ellie Tragakes. Ec ics for the ]
i 2;.-, es. Economics for the IB Diploma.

Cambridge University Press,

Target vocabulary of text A

abundance (n) =  when there is more than enough of smth

We had natural resources in abundance.
smth that is different from smth else, espe-
cially from what is usual, and offering the
possibility of choice

There must be an alternative to people sleep-

et

ing on the streets.

alternative (n) =

goods (n) = {’:\-'er_\_ft.hing that is produced in the economy
I’he; government will pay for the new schools
by increasing the tax on luxury goods.
needs and wants = the things that a person must have in or-
der to have a satisfactory life
They don’t have (enough’food to meet their
needs and wants.

produce (v) = to make smth or bring smth into existence

France produces a great deal of wine for
export. : ‘
(o) = vaye b . ;
tisfy (v) to have or provide smth that is needed or
wanted

She satisfies all the requirements for the job.

15
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not easy to find or get

Food and clean water were becoming scarce.
a system or organisation that provides for
a basic public need

the ambulance/health/postal/prison service
the study of society and the way people
live

Examples of social sciences are sociology,
psychology, economics, €tc.

scarce (adj) =

service (n) =

social sciences =

1. a) Use your dictionary to check the correct pronunciation
of the words below.

science, discipline, society, scarce, cOnsequence, perspective,
anthropology, psychology, sociology

b) Read text A and do the tasks/answer the questions below.

{. Why does the study of economics exist? Why is it necessary
to study economics?

9 Divide the following concepts into the two groups “goods” and
uservices”: Oxford University tuition, engineering, a house,
marketing research, a luxury Swarovski necklace, currency
exchange, transport, a tuna sandwich, the Moscow Times sub-
seription, a box of chocolate.

3. Give some examples of unlimitedly abundant resources. Does
economics show interest towards these resources? Why?

4 How toavoid waste in the use of resources in modern econo-
mies?

5  Which consequences does a conflict between our wants and
limited resources have?

9. Decide whether the following statements are True or False

according to text A.

{_ Economics is a science because it uses principles of anthro-
pology, sociology and psychology.

9 Most individuals are satisfied with what they have and do
not strive for more goods and services.

3. The amount of resources available for consumption is limi-

tedh o &
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4. The subject of economics is to teach individuals how to con-
sume less.

5. Societies have to make choices because resources are scarce

6. Economists try to find out how to satisfy society’s wants in
the best possible way. :

3. Scan through text A an;l find the words corres .
to these definitions. words corresponding

para 2
1) to make someone feel pleased by doing
what they want (v) ‘

para 3
2) things that are produced in order to be

sold (n)

para 6
3) a large quantity of smth (n)

4) limited (ad))

para 7

5) smth that is able to be used or can easily
be bought or found (ad)) .
6)_L0 make smth to be bought, used, or
enjoyed by people () '

para 8

7) to find a satisfactory way of dealing with
a problem or difficulty (v)

para 9

8_) smth that happens as a result of a par-
ticular action or set of conditions ()

9) smth you can choose to do or use instead
of smth else (n)

para 10

10) the ineffective use of smth (time or
money) (n)

para 11

11) a way of thinking about smth (»)

12) smth that you are trying hard to achieve

(n)

17




4. Match the term with its definition. 4. 1’:31 not satisfied  the way the company VIR
1 resources a) the provision of payments facilities, 5. \ﬁ’\{mnen’s earnings are sti]i lowe:ir o e Salbtiomre ) ]‘[‘1(—_‘].]’\;
credit and capital to individuals, firms and 6. Since our research so far has not prod“('ed'dT.Ym&-l_Ilt-‘.\\-’{'l\";
the government Lo, b F.lns problem, we need to adopt a different ;.11)])1-{;;.10}‘1
2) human labour b) society’s decision on the kind, quality, 7. }\KEE: e English could lead iy g i gt
and quantity of goods for consumption ism. e — JeuIna
3) banking c) an_ything \’_vhicl} can (:.ontl'ibul:e to eco- 7. a) Choose the correct letter (a, b or c).
“0‘1“1('- E‘}’-L\W‘_t-}r’- l“h\sﬂ ‘f‘__(‘;ll‘(]e*‘ natural {. If youare _satisfied with this product, please return it
resources, capital goods, etc. a) un b8 &) dis ]
4) insurance d) human beings as factors of production 9. It is __realistic to expect these changes to happen over-
5) choice e) the use of contracts 0 reduce and redis- nlght
tribute risk a) in b) un ¢) dis
5, Th_c system can support an ~ limited number of users.
5. Use the words from exercise 4 to fill in the gaps. a) in b) un c) dis
is a form of risk management primarily used 4. His salary was ___sufficient for their needs.
to hedge against the risk of a contingent, uncertain loss. a) in b) un ¢) non
YRR defined as the equitable transfer of the risk of 5 Various drugs have proved __effective against the virus
2 loss, from one entity to another, in exchange for payment. a) in b) un ¢) dis i 0k
' { il is the stock of competencies, knowledge and 6. It would be  profitable to pursue this argument any fur-
personality attributes embodied in the ability to perform ther. : 4
labour so as to produce economic value. a) in b) dis ¢) un
3 A s a source or supply from which benefit is pro-  # The parking facilities are ___adequate for a busy shopping
duced. Typically are materials or other assets centre. Tei AT
that are transformed to produce benefit and in the process a) in b) non ¢) dis
may be consumed or made unavailable. 8. Prices for natural resources are normally high at the
Kt st the business of operating a financial institu- moment. L WD Bk kY
tion. A bank connects customers that have capital deficits to a) in b) un ¢) ab
customers with capital surpluses. _ 9. We have been __successful in finding a new manager.
5. If the product doesn't work, you are given Fhao aoiy of a) in b) un ¢) dis ;
4 refund or a replacement. 10. Never __ estimate the power of the press.
6. Fill in the gaps using the prepositions from the box below. a) in b) dis ¢) under

b) Group the words from exercise 7. a) under the following

with (x2) ® to(x4) ¢ headings

mutual respect. un- in- dis- ab- under-

{_ Their relationship was based _
9 Nowadays the department operates with the objective :
____raisingas much taxes as possible. N TAERENY
3. All the people concerned ~children’s education e — et
should be submitted to testing.

———
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8. Give a definition of the word in bold using the words given
in the list below.

need resource goods
situation useful things
to want to use to produce

necessary production to sell

to produce scarce problem

to make not much situation

goods available to cause
resources resources difficulties

e

conflict choice to buy
disagreement to choose to get
argument things to pay

people several money

Text B
Scarcity and importance of economics

{. Naturally, reality constrains our choices. There has never
been enough to satisfy everyone completely. That is what scar-
city means. Although per capita real income in the United States
inereased 50 per cent in just one generation, these middle-class
families have had to work hard for their modest gains. (Were
they expecting manna from heaven?) As for how hard they
worked and the modesty of their gains, it is doubt ful whether
most other people in the world would regard Americans’ work
in air conditioned offices with coffee breaks as “hard” or their
standard of living as “just getting by”. However, as someone
once said: “Just as soon as people make enough money to live
comfortably, they want to live extravagantly.” Even millionaires
can have a hard time making ends meet if they try to live like
billionaires. The New York Times reporter wrote of one of these
middle-class families: After getting in over their heads in credit
card spending years ago, their finances are now in order. “But if
we make a wrong move,” Geraldine Frazier said, “the pressure
we had from the bills will come back, and that is painful.”

2. To all these people — from academia and journalism,
as well as the middle-class people themselves — it apparently
seemed strange somehow that there should be such a thing as
scarcity and that this should imply a need for both productive
efforts on their part and personal responsibility in spending. Yet

20
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nothing has been more pervasive in the history of the hum:
race L'h;-m scarcity and all the requirements for vi‘mmmi%in lr Itlhlcfm
go with scarcity. Not only scarcity but also "ulu-rl.ml;\-'r'zﬂu }dl
are at L|‘_(.’ heart of economics. If each resource had unI\.’ one N‘hl
economics would be much simpler. But water can be usuclilhtt.,
produce ice or steam by itself or innumerable mixtures and cor .
poumls m‘v()mhilu_uinn with other things. A virtun]l\\f l[imitl “
number of products can also be produced from wood or f[‘;r
petmk.’um, iron ore, etc. How much of each resource should 1 ]
allocated to each of its many uses? Every L‘(‘(]Tl()m.\-' hl.l\‘ ‘m ‘m«;w.)'(‘
that question, and each one does, in one way or 'm‘nl.! 1y -’HL'I
ciently or inefficiently. . L inngT
3. Doing so efficiently is what economics is all about
Whethc.r the people in a given economy will be prosperous or m\'—.
erty-stricken depends in large part on how well their I‘L“snulr “
are allocated. Rich resources often exist in very poor L'{).l‘l{'tir‘???
simply because the country lacks the economic m(:r.h'-lrni*aln.a‘IL’br
well as specific skills, for efficiently turning those res.;o‘urt:m \2;1?:;
abundant output. Conversely, countries with relatively few nat-
ural resources - Japan or Switzerland, for example " can i1': e
very high standards of living, if their people and their (-;'r)mc 6
are well adapted for allocating and using whatever I'(“-‘-Ul]l)‘:;l:
they have or can purchase from other countries. E('nn(\:mim. is
not about the financial fate of individuals. It is about the mat ]'h
rial \}-‘el]—l)eing of society as a whole. It shows cause and (lfrfet‘;
relationships involving prices, industry and commerce, work a IL]
. Of t_ht: international balance-of-trade — all i'r()m.'thc %l':nld(-
point of how this affects the allocation of scarce 1‘0%0111'.&*%‘.111 a
way that raises or lowers the material standard of Ihiving. .{‘)f th .
people as a whole. Money doesn’t even have to be involved b
make a decision be economic. i g
t%. Most of us hate even to think of having to make such
ihO]c?S‘ Inds(.’d., as we have already seen, some Illit'ldle-;‘laéq
ar?zim 15‘.:-1111‘? are distrcﬁsed at l‘lz.wing to make much milder cllt)it‘c;s
trade offs. But life does not ask what we want. It presents
us with options. Economics is just one of the \\-'a}-‘s‘()'[‘ tr\-'i;m ; lé)
rn.ake th.e most of those options. While there are ('.(}l]t‘rf)\»'{‘vl'si(::-.:; in
it)(::l(z]:l:is 1% thcr‘e are in‘ St'i.t.‘l'.l(.'t‘, this does not mean that éf;o—
s is just a .mal,tcr of opinion. There are basic propositions
and procedures in economics on which a Marxist economist like

21
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Oskar Lange did not differ in any fundamental way from a con-
servative economist like Milton Friedman.
5. All sorts of economies — capitalist, socialist, feudal,
etc. — must determine in one way or another how the available
resources are directed toward their various uses. But how well
they do it can lead to poverty or affluence for a whole country.
That is what the study of economics is all about and that is what
makes it important.

Thomas Sowell. Basic Economics: A Citizen's Guide to the Economy. — Basic
Books, a Member of the Perseus Books Group, 2004. — Ch. 1.

Target vocabulary of text B

money that is earned from doing work or
received from investments

Average incomes have risen by 4.5% over
the past year.

standard of living = the amount of money and comfort people
have in a particular society

The standard of living in many developing
countries is low.

to try to save money by reducing the
amount that you are spending

You could economise on food by not eating
in restaurants all the time.

the cost of any activity measured in terms
of the value of the next best alternative
forgone (that is not chosen)

rich and successful

a prosperous landowner

extremely poor

poverty-stricken families

formal to buy smth

You can purchase insurance on-line.

the well-being of a country is the state in
which it is strong and doing well

income (n) =

economise (v) =

alternative use =

prosperous (adj) =

poverty-stricken
(adj) =

purchase () =

well-being (n) =

We are now concerned about the economic

well-being of the country.
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balance-of-trade

(n) =

the difference in value between the goods
a country buys from abroad and the gnnf];s
it sells abroad :
a positive balance-of-trade

a balance between two opposing things,
that you are willing to accept in order to
achieve smth

There has to be a trade-off between quality
and quantity if we want to keep prices low,
a statement that consists of a carefully
considered opinion or judgment ;
Y“he theory is founded on two basic proposi-
tions.

trade-off (n) =

proposition (n) =

é%:gelf‘?srﬁg%g]d(:i}.wnary to check the correct pronunciation
scarcity, per capita, pressure, pervasive, innumerable, ore

mechanism, procedures, Marxist, feudal, affluence, to vary, \-’2lI‘iElh]L':

b) Read text B and answer the questions below.

1. Why do people become extravagant with money when they
get well-off? : l

2. Which two concepts lie at the heart of economics?

3 How can a country decide which way of resources allocation
is the most effective?

4. Do rich resources guarantee prosperity for their owner (eg
a country)? .

9. Which factors affect the standard of living in a country?

gég)ifiliﬂeg‘:c?g:fgihe following statements are True or False

1 : \ o 1v wele :
, Pe(?ph eagqi_x welcome the opportunity to economise on
their spending.
2. [t st 5 1 ] L
Wmng decisions on resource allocation lead to economic
§ inefficiency.
- Countries with the immense resource supply are the richest
in the world. :
B © . T R e
Oskar Lange’s and Milton Friedman’s economic theories had
- little common ground.
+ The chief objective of economics is to make people more

well-off and happy.

23



3. Scan through text B and find the words corresponding to

these definitions.
para 1
1) used to describe the average amount of
smth in a particular place, calculated ac-
cording to the number of people who live
there (adj)
2) financial Erofit, esgecially when this
seems to be the only thing someone is in-
terested in (n)
3) events or conditions that cause changes
and affect the way a situation develops, es-
pecially in economics or politics (1)
para 2
4) to suggest that smth is true, without
saying this directly (v)
5) existing everywhere (ac(z{'i)
6) smth that you must do, or smth you
need (n)
7) almost (adv)

para 3

8) rich and successful (adj)

9) to not have or not have enough of smth
that is needed or wanted (v)

10) in an opposite way (adv)

11) the state of feeling healthy and happy

(n)
12) a set of beliefs and ideas from which
opinions and decisions are formed (7)

para 4

13) a situation in which %rou balance two
opposing situations or qua ities (n)

14) a lot of disagreement or argument
about smth (n)

15) an idea or opinion (n)

para 5 D

16) to make a strong decision (2)

17) welfare, riches (n)

4. Match the term with its definition.

1) real income a) the money which is used for a particular
purpose, especially by a government or orga-

nisation

24
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!‘f@) standard of b) the difference in value between the goods

~ iving a country buys from abroad and the goods it
_ sells abroad '
@) spending c¢) the \—'ai_u¢ of earnings/income, etc. after the
effect of rising prices is considered
4) alternative ~ d) a balance between two opposing things,
uses that you are willing to accept in order to
i achieve smth
5) balance-of- ¢) thg'. amount of money and comfort people
trade have in a particular society
.ﬁ) trade-off fy ways of using smth differently
5. Use the words from exercise 4 to fill in the gaps.
L refers to the level of wealth, happi-
- ness, CmeorF, material goods and necessities available to
§ a certain socioeconomic class in a certain geographic area
_. includes f i ity
4 hamA ot includes factors such as income, quality
2 and availability of employment, class disparity, poverty rate,
- quality and affordability of housing, etc. ”
2 . is a situation that involves losing one
i qual@ty or aspect of something in return for gaining another
~ quality or aspect. It implies a decision to be made with full

b T

comprqhension of both the upside and downside of a particu-
lar choice.
The is the difference between the mon-

etary value of exports and imports of output in an economy
- over a certain period. It is the relationship between a nation’s

imports and exports.

) includes all government consumption,
investment but excludes transfer payments made by a state.
Qo0sy and scarcity lie at the heart of economics.
This science would not exist at all if resources were abun-
dant or had only one use.

e : is‘the income of individuals or nations after
a_d_mstmg for inflation. It is calculated by subtracting infla-
tion from the nominal income.

6. Fill in the gaps using prepositions from the box below if

from e on(x2) e for@x3) e to(x2)

1,

4

The government is allocating £10 million ___ health education.
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2. As project leader, you will have to allocate jobs __ people.

3. “I have to put aside my emotions,” he says, “and consider it
___a professional standpoint.”

4. Tt was the event that led ___ the start of the First World
War.

5 The airline is legally responsible ___ the safety of its pas-
sengers.

6. As a political party they are trying to effect  achange in
the way that we think about our environment.

7. Several factors are likely to influence this decision.

8. The Council had influence ___ many government decisions.

9. They managed to agree ___a date for the meeting.

10. There is a huge demand ____ new cars.

7. Choose the correct letter (a, b or ).

1. Works of art were lost, many of them __replaceable.
a) un b) in c) ir

2. They have decided to ___continue the production of Prod-
uct P because sales have fallen.

a) de b) un c) dis
3. The experiment produced some ___expected results.
a) in b) un ¢) non
4. Punishment of __desirable behaviour should be severe.
a) in b) un ¢) non
5. The government plans to __regulate the banking industry.
a) de b) un ¢) dis

6. One shouldn’t estimate the difficulties of getting all the
political parties to the conference table.
a) in b) under ¢) un

7 She owes $30 000 in unpaid taxes based on $100 000 of
reported income.
a) in b) non ¢) un

8. The minister maintained that the coal mines were __eco-
nomic and would have to be closed.
a) in b) un ¢) non

9. If you're _satisfied with the service, why don’t you com-
plain to the hotel manager?

a) in b) un ¢) dis
10. The project has been delayed by __numerable problems.
a) un b) dis ¢) in

VOCABULARY

1. Look at the following pair of words, spot the di
o the task. , spot the difference and

TO AFFECT = TO EFFECT

S

10
to affect — to influence some- to effect — to make smth

_one or smth, or cause them to happen

_change 2 ] The civil rights movement
;ﬁ:’s a decision which affects effected a huge change
our life. in America.

f Did the newspapers really
- of election?
It is known that poor housing significantly
educational achievement.
The area has been badly
We have tried out our best to
- tion between the two parties.
g. It will take years to
. | .
~ the educational system.
6. The building was badly
z‘b As a political party they are trying to
g in the way that we think about our environment.
tI'rading has been adversely by the downturn
~in consumer spending.
- The transfer of a business is governed or by
the law of the country in which the business is situated.

the outcome

by pollution.
a reconcilia-

R

meaningful changes in

by the fire.
a change

. Look through the two sets of sentences and decide which
rd affect or effect should be inserted to make these sentences
%mplete.

;ﬁi Foreign trade is excluded from consideration, since it is
~ assumed that such trade will not the value of pro-
duction, but merely affect its material form.
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9.
3.

3.

3. Match the w

Dl

How will the Board’s decision _________ householders?
National resources, combined with policy choice,
both the appropriateness of various forms of firm strategy
and the nation’s attractiveness to existing and potential
investors.
The missingwordis
Increasingly people looked to the state to provide services,
to regulate more of the affairs between men and té¢ CHAnKe
overall improvement in the quality of the nation’s life.
They lack confidence in their abilityto change or
improve the quality of their lives.
[norderto 't i“these objectives a number of changes
were to be made in the provision and funding of social care.
The missing word is 2

ords in the box on the left with the words that

they collocate with on the right.

4.
1.

=

1) agricultural a) perspective

2) poor b) stricken
3) social ¢) well-being
4) real d) responsibility

5) personal e) land

6) poverty f) income

odl |

Use the collocations from exercise 3 to complete the sentences.
t is claimed, demands economic equal-

7) material g) country

Economic justice, as i
ity — defined as an equalised after-tax TOURD

Preventing pollution is one dimension of maintaining a
environment which is largely a public rather than a

safe
The war muffles the voices of humanity, of ordinary people
who care about democracy, _, the protec-
tion of nature, and above all, human life.
I think the County Council looked at government guidance
in relation to the need to protect and safeguard National
parks, greenbelt, high qualitytj( 20wl s Deothe need
countryside for its own sake.

to protect the

5. Others say the best way to get private sectors working is t
rc_im'm the public sector: the World Bank can use its (‘I.m.lil]
Ith o overnment to insist on structural reforms when
it lends them money. :

. The result in Chile is that poor, small farmers exist alongside
|_m‘dium—.~+ized farms which are capital intensive and |)I'()(i1|f;'{.‘
for export, and a large number of the rural population have
become landless and are :

7. Despite these problems, natural law and rights-based
theories undoubtedly have something to (':)nlr‘ilmtﬁ to
an understanding and development of law in a broader

5. Trans}ate the sentences from Russian into English using th

collocations from exercise 3. B

{. Ceroaus Poccusi HanloMuHaeT <«apUKaHCKYIO» MOJEJ]b
KOJIOHMAJIbHOIT 9KOHOMUKH, KOTOPasi pact ipn;uw:r 1no ,-'[L‘.ill'uli.]'\‘('
MUHEPATbHOE CHIPbE U CENbCKOXOISAUCTNEEHHDLE IEMIU.

9 Hpmemnuii atan Toprosoix neperosopos BTO nposaaniics
B 1999 r. B Cuatne, Tak kak Oosee 6ednvie cmpanvl TOHSAIN
HTO OHM HE JIOHKAYTCA OT 3TOI opraHu3alliy HUYEro, u‘ 'n;
BpeMA KakK ooratbi¢ MUPOBDBIC I'\'Ul)llf)])illll!ll [MOJIVHAKOT HOBBIE
1 HOBBIE 11paBa. ;

3. Teopernuecku BBITOHEE MIATHTH OOJIbIIE HAIOTOB M HOP-
MaJIbHYIO 3apIiaTy YUHOBHUKAM, TIOCKOJIbKY PELICHHUS, TIpH-
HSITBIE KOPPYMITMPOBAHHBIM YHHOBHUKOM, C 06ujecmeennol
MouKU 3peHust, 3aBeJIOMO XyKe, YeM YECTHDIM.

4, MunucTp yBepser, 4to peaivhviii 00x00 y Beex Groker-
HUKOB K Hayaly CJeIYyIOHmero roja mnpu sToOM yBEJIHINTCA
routn Ha 40 1TpOIEeHTOB. ‘

9. MyngaMeHTaJIBHBIMUA HEHHOCTAMU JubepasiuaMa sABJIA0TCA
auunas cBoboaa U AUUHAS omeéemcmeennocms, cBoboa
CJI0BA U 0ODbEIMTHEHHIA. . o

6. Beoneiiwue rocynapctsa 00BHHAIOT OoraTbie B HeXKeJIaHUM
VBeJHUNBATh UM (DPUHAHCOBYIO TIOMOILb, OTKPbIBATH PHIHKH

. IS UX TOBapoB.

. p,:’JIb COLMAIBHOM TTOJIUTHKMA — 00eCIeYrTh Kak/IoMYy Ipax-
Aanuny Poccuu goctaTouHOe MAMEPUAILHOE 6razococmos-
Hue 1 IIMBUJIN30BaHHbBIN 00pa3 KU3HH.
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R 3

GRAMMAR The government has ¢ ed that i
6. h 3:‘ t has an mmm_nfl that an environmental com-
];]Intt e to be set up to advise the Forestry Commission
T ! 1e Governme :1pi - : i .
ot e f e g oate oL S R ", H; I nli] ent __ helping to support the idea that coal is
L 2 @0k Chagl e a pollutant but that nuclear power is green friendly and that
gas is green friendly.
8. This system has been in operation for three months now so
the staft gradually becoming more settled.
9, (,lu'r{k if the company a member of the Hamper Indus-
try Trade Association.

a) a noun which you cannot make plural by adding -s, because
it only has a singular form

b) a noun that can be singular in form whilst referring to a
group of people or things

9. Choose the examples of the collective nouns from the list 10. Such work is not without its dangers and the Committee
. below. ____currently making enquiries about an insurance policy.
audience, news, eCONoOmics, committee, government, species,

; i : ’ ; _ 5. Group the nouns under the two headings.
means, craft, council, team, belongings, staff, data, riches, jury,

+ si
company, people noun + singular verb noun + plural verb
4 { news
3. Use either a word singular or plural to make rules 1 and 2 people LG
| complete.
| 1. When a group is considered as a single unit, the collective ik
nounis used witha _ verband ___ pronoun.
9. When the focus is on the individual parts of the group, Bri-
| tish English sometimes usesa verband ____ pronouns.
. 5 advice o arms o Athens M pe
4. Choose either is or are to complete the sentences below. T Athens e billiards
| {: I 1 l Jl I??U(_.H!(”:S ] B!‘HSS(_’!.S ° (g(”‘njng's ° ﬁf‘()nﬂfﬂj(‘ﬁ
. Government one of humanity’s oldest and most impor- ducati Tl age s .
i 1. G 0 ment __ e f I education o evidence o mathematics
tant institutions. money o Naples o news e outskirts
' 2. The company almost entirely dependent on Royal Navy people o premises o quarters e riches
orders. although it has built the odd merchant ship of a more stationery e the blind e the clergy
' complex kind. the military e the police
| 3. The staff all expert stylists, accustomed to helping cus-
| tomers create their own individual look from their marvel- 8. The nouns below have different meanings in the singular
. nf exclusive labels an . 11 3 . . i ; i
| Im%s, range of exclusive l(.lh.(,lb. ] fd plural. Fill in the gaps using either singular or plural form
| A It is an attempt to deal with a prevalent problem, but I fear of these nouns.
| a distortion — the Government ___ considering only one Example:
| aspect of the issue. content / contents
fd T " y bt 2 o " s 4 . : .
5. The staft frequently consulted by national bodies in the P rle
, o ey A g . : L. Please empty out the ___contents __ of your pockets
. UK, as well as by international organisations, the'UN family, W The  comtent  of the articl AL O ol s
[l y i ] ! —_conlent he article was controversi:
World Bank, etc. 1s controversial.




custom / customs

1. The of naming women after flowers is becoming less
common.

2. She was stopped at and questioned.

damage / damages

{ The court awarded him £15 000 in .

2. The insurance cOvVers accidental to the vehicle.

experience / experiences

1. My trip to Australia was full of I'll never forget.

9 He had no previous of managing a farm.

minute / minutes

1. Has everyone seen the

9 The train arrived at four

saving / savings

{. Buying a house had taken all their :

2. For many companies this can mean of up to 10% per
year on energy, maintenance and labour costs.

work / works

1. There isn’t a lot of

2. The exhibition includes

people / peoples

1. Europe is made up of many different

9. Our company employs over 400 :

of last month’s meeting?
past eight.

at this time of the year.
by Picasso and Klee.

7. Divide the following nouns of foreign origin into the two
categories: nouns with both foreign and anglicised plurals (A)
and nouns with foreign plurals only (B).

antenna © alwmnus o  stratum 8 phenomenon
index e criterion ® appendix o axis
alumnus o medium ® automaton ® analysis

A B
1) antenna /antennae/antenna 1) alumnus/alumni
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SKILLS FOCUS

1 Reading

1. Read the text which focuses on the definition of economics
given by the famous economist of the past Adam Smith
In the _second part of the text match the criticisms of Smith’s
definitions (they are given in the left-hand column) to their
headings (the right-hand column).

:_ (‘I) Adarfl Smith and his definition of economics

L There is no unique definition of economics which has a general
‘acceptance. The formal roots of the scientific framework of eco-
‘nomics can be traced back to classical economists. The pioneers

0 the science of economics defined economics as the science of
wealth.

4 Adam Smith (1723—1790), the founder of economics
____escribcd it as a body of knowledge which relates to wealt’hj
ccordingly to him if a nation has larger amount of wealth, it
can help in achieving its betterment. He defined economics a;:

1 “Ithe study of nature and causes of generating of wealrk.of
a nation.”

k Adam Smith in his famous book, “An Enquiry into the Nature
and Causes of the Wealth of Nations”, emphasised the production
‘and expansion of wealth as the subject matter of economics.

. The main points of the definitions of economics given by
Adam Smith and other classical economists are that:

W (1) Economics is the study of wealth only. It deals with
consumption, production, exchange and distribution aspects of
‘wealth.

(2) Only those commodities which are scarce are included
in wealth. Non-material goods such as air, services, etc. are

‘excluded from the category of wealth.

13 oge e
' (1) Criticism on the classical definition of economics

e The definitions given by Adam Smith and other classical
€Conomists were severely criticised by social reformers and men
j{Qf.letters of that time Ruskin and Carlyle. They dubbed econo-
_-_1‘_!;1(55 as a “dismal science” and a “science of getting rich”. The
Main criticisms on these definitions are as under: ‘
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CRITICISM

HEADINGS

1. The definitions of econo-
mics give primary importance to wealth and
secondary importance to man. The fact is that
the study of man is more important than the
study of wealth

X The word “wealth” in the
classical economist’s definitions of economics
means only material goods such as chair, book,
pen, etc. These do not include services of doc-
tors, nurses, soldiers, etc. In modern economics,
the word “wealth” includes material as well as
non-material goods

3. According to “wealth”
definitions, man works only for his self-interest.
Social interest is ignored. Dr. Marshall and his
followers were of the view that economics does
not study a selfish man but a common man

4. The “wealth” definitions ig-
nore the importance of man’s welfare. Wealth is
not be all and the end all of all human activities

D The definitions of econom-
ics lay emphasis on the earning of wealth as an
end in itself. They ignore the means which are
scarce for the earning of wealth

6. The definitions economics
given by classical economists were unduly criti-
cised by the literacy writers of that time. The
fact is that what Adam Smith wrote in his book
The Wealth of Nations (1776) still holds well.
The central argument of the book that market
economy enables every individual to contrib-
ute his maximum to the production of wealth
of nation still not only holds good but is also
being practised and advocated throughout the
capitalistic world. Since the word “wealth” did
not have clear meaning, therefore the defini-
tion of economics became controversial. It was
regarded unscientific and narrow. At the end of
the 19th century, Dr. Alfred Marshall gave his
own definition of economics and therein he laid

emphasis on man and his welfare

a) Defective
logic

b) Narrow
meaning

of wealth

¢) No men-
tion of man’s
welfare

d) Too much
importance
to wealth

e) Concept
of economic
man

f) It does not
study means
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. Read more about economics as a social

e: Unit 1. science in Reading

Speaking

i Women and work
. jhis activity is based on the materials taken from hitp.//www
onomi.?r.com/. The site presents the debate between the twc;
"bonomists: Linda Basch and Christina Hoff Sommers. The
discuss the question “Is a woman’s place at work?” The brief
scription of the problem is given below:
~ Nearly two-thirds of women in rich countries now have paid
bs, not far off the proportion for men, compared with under

ing alI] round: for the national economies concerned, because
provides extra labour as working populations in many courl-
es are beginning to age and shrink; for employers, because
ey are able to draw on a much larger and more diverse pool
i -Is:alent; and for women themselves, because they now enjoy
wider choice of careers and more financial independence at a
time when many marriages end in divorce. But more remains
be done. The pay gap between women and men for compa-
le work remains substantial, and women in top positions in
field are still relatively rare. For women to get the most out
f work, and workplaces to get the most out of women, it needs
) become easier for them to combine work and family. This will
olve a change in men’s attitudes too.
ur task is to visit htrp.'//wzf’zer.economist.com/debate/over-
0/219 and do the following:
1. Summarise the viewpoints of the debate participants
se the speech patterns given below. .
" a) Linda Baschs is a ... She is defending the idea of .. Her
uments in favour of the statement are ...
» b) Christina Hoff Sommers is a ... She is against the idea of
*Cause ... Her arguments are ...
‘2. Speak about the results of the debate.

'3, Tell your partner about your own viewpoint on the prob-
discussed.
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B Discuss the following questions with the partner.

{. Who are the greatest women in your country’s history?

9 Harriet Beecher Stowe said: “Women are the real archi-
tects of society.” Do you agree?

3. What common characteristics do all women share?

4. How would the world be different if all leaders were

women?
5. Do men and women have equal career opportunities?

Writing

{. Render! the following text using the plan:

{ State the central idea of the article.

9 Give a summary of the article.

3 State the main problem discussed in the article.

4 Point out the facts that turned out to be new for you.

5 Express your own point of view on the problem discussed.

My KUHHbI HEI001eHNBAIOT POJIb sKeHIMH B 9KOHOMHUKE
5 owuboK, Komopble cosepualom pyxoeoaumeﬂu-mymunm,
K020 UX KIUEHMbL — HCCHUUMNDL

My KUYUHDI, yripaBJsionme GU3HECOM, 3a4aCTyI0 He 3a/lyMbl~
BAIOTCS O TOM, KaKyIlo ¢yHIaMeHTalbHYI0 POk UrpaoT KeH-
[IUHBI KaK norpebuTeNN TOBAPOB 1 yeayr. Mexay TeM MMEHHO
sKeHcKas 110J10BMHA yesloBeYeCcTBa MPEACTaBIACT coboii camyio
cTpeMuUTEeNbHO pa3BuUBaOULY0CA «9KOHOMHUKY» MHUPOBOTO
pBIHKa, KOTOPask TipeBbIlaeT ake BMECTE B3ATHIE TTOTPEOUTE/Ib-
ckue porHkyn Kurast 1 Nnann.

CornacHo uccaea0BaHuio BocTOHCKOM KOHCAJITUHTOBOI
rpyTIbl (BCG), B x0/€ KOTOPOro OBLIO ONpoIIEHO 15 TeICAY
JKEHIIMH 1 D THICSAY MY/KUIH B 29 cTpaHax, XKeHIUHDI NOKYTNaoT
70% Bcex MoTpeduTeIbCKIX TOBApOB He TMepBoil HeoOX0AUMO-
cru. I1pu aTOM OHM HE y/AOBJIETBOPEHDBI TEM, yTO MpesaraeT uM
PHIHOK BO MHOTHX cdepax, B ocoberHOCTH B 00/1aCTH 3/[PABOOX-
panenns, GUHAHCOBBIX ycayr B TOBapoB JUIITEJIBHOTO TI0JIB30"
BaHUA.

BOoABLIIMHCTBOM KOMITAHUI PYKOBOAAT MYKUIHDL, 3HAYU-
TesibHAs YACTh M3 KOTOPBIX HE [TOHIMAIOT JKEHIMH 1 HE 0C03”

i Rendering is the exposition of the content of the Russian text in English.
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HaioT TY byHAAMEHTATIBHYIO POJIb, KOTOPYIO KEHIIMHBI UIPAIOT
HKOHOMHUKE ¥ KOTOPYIO CJ0KHO MIHOPUPOBATD. Mesxay Tem
KeHILTHDI nproGpeTaoT TOBAaphl M YCIyru MHaUe, YeM MYyx-
- gquibl, Y HMX GosbIIIe OMBITA B LIOTIMHTE, OHYU YAEJAIOT npouéccy
1 pe3yJibTaty Gosbiie OMOLIMH.
My>KuHHBI-60CCHI TIT0X0 3HAKOMBI €O CTOJIb Ba)KHOI 1oTpe-
] _Teﬂbcuoi‘i Kareropue 1o psjy 1npuinH. ITpexae Bcero, 1Mpo-
JBBOANTEH TOBAPOB HE [IPOBOAAT AOCTATOUHOrO KOJIMYECTBA
ccsteoBaniiil B OTHONIEHUH 0COOEHHOCTeN norpebienus KeH-
1M TTOJTOM, @ Ha 9Tarax paspaboTKu HOBBIX MPOAYKTOB, OTpe-
: eHMSI IEHbI U CO3/IaHNsi MAPKETHHIOBOM KOHUCITIIHI My k-
b1 -PYKOBOJUTE I IPUBbIK/IN B3aMMOEHCTBOBATD € npyrl:mn
YIKUIMHAMHU, HEKe/TH C JKEeHUIHHAMH.
‘_B CBOIO O4Y€epeah PyKOBOAUTENN (PHHAHCOBBIX KOMITaHUI He
cerjia B Kypce TOro, Kakoe obcayxuBaHne TPeOYeTCst KeHIM-
M, SBJISIOUAMCS notpebuTtensMu ycayr (pUHaHCOBOIO CeK-
pa. Kak 1paBujio, B LEHTPe BHUMAHUsA KOHCYIbTAHTOB Halile
a3pIBAETCS MY’KUMHA, Jaxe eciu «J10OBITYNKOM» B CEMbE
BIIACTCS KEHIINHA.
Tlo pesy/ibTatam MccjeloBaHuii BCG Wall Street Journal
6AUKYeT 5 OCHOBHBIX OMIMOOK, KOTOpBIE COBBpLIIaK;T MY K-
bI-PyKOBOJMTE/ M TIPH paspaboTKe ¥ 1pojaxe TOBapOB,
pe/iHa3HauCHHbIX [IPeUMYIIECTBEHHO /UIsl JKeHIINH,
| 1. Henopuposanue 3HAUUMOCTIIL SMOUYUOHATLHOLO ¢paxmopa.
My>K4nHbi-PYKOBOAUTEIH HACTO HE OCOSHAIOT, HTO HKEHILMHDI
OKynaioT TOT WM MHOI TOBAp, OPUEHTHPYACH Ha S9MOLMM, KOTO-
e o1 BBi3biBaeT. OHU MPUCTYUTHBAIOTCS K CBOMM Oy HIEHIAM
T nipotiecca ¥ peaysbTaTa HoKynKi. MyK4nHbI obbiuHO Gonee
p2 [MaTHUHbL TTOKYTIas HOBbIEC TOBApbl HA 3aMEHY CTapbiM, OHHU
| OBOHC'EByIOTCH npuBbIYKOil. BoT mouemy, HanmpuMep, MO/a
E ;IHCKOH ofexK/le Topa3ao 6oJiee MepeMeHYNBa, YeM B MyiK-
2. Heuamennolil GCCOpMUMEHT U3 z00a 6 200.
& PyKOBO/IMTEIN HaCTO He BUAAT Heo6XOANMOCTH B pa3paboTke
TO-TO HOBOTO, €CJIM OM3HeC UAeT A0CTaTOYHO YCIEeNIHO. Oun
gy yBeIMUMBaTh LMK/ Pa3paboTKH POy KIHH, BHOCA HE3HA-
e1LHbIE MAMEHCHHSI OT CE30HA K Ce30HY, MaJI0 YeM OT/IHYaACh
done koHKypenTos. KeHumH 6oJIbIle, YeM MYKUNH, NHTepe-
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CYIOT HOBUHKH, UM HPABUTCS TIOJb30BATHCSA Y€M-TO 0OHOBJIEH-
HBIM M YJIYYIICHHBIM.

3. To ace camoe, Ho 6 po3o6om yeeme.

Ecan Tor uau mHo# TOBap A0CTATOYHO YCHEUIHO IPOAAeTCs
Cpein MYXKCKOH IOTPeOUTebCKOI TPYIbI, TO PYKOBOJAMTEIH
KOMIAHHH YacTO CYUTAIOT, YTO AOCTATOYHO BHECTH MUHUMAJIb-
Hble 3MeHenust opMel U 11BeTa, YTOOLI OH MPUOOPET TAKYIO Ke
HOIYJISIPHOCTD Cpe/in JKeHIIMH, O/IHAKO ecJiu 110 CYTH HUYEro He
M3MEHIJIOCH, KEHIIMHbI OKA3bIBAIOTCS He YAOBIETBOPEHBI TEM,
YTO MYXKCKYIO Belllb IIPOCTO MEPEKPACHIN B PO3OBbIL 1IBET.

4. Heyxaoxcas mapkemunzo6as cmpamezusi.

MapkeTHHrOBbIe KaMITaHUN YacTo GasupyeTcs Ha CTepPeoTH-
nax, a He Ha riiybOKOM MOHMMaAHUK JAEHCTBUTEIbHBIX 1OTPE6-
HocTeil KeHIMH. PykoBoanTe M KOMIaHUM 3a4acTyio jAaxke
He OCO3HAIOT, YTO MX MPOAYKIMSA padoTaeT COBCEM He TakK, Kak
obenaer peknaMa. B pesysibrare TOBapbl, NnpeaHasHauyeHHbIe
TOW WJIM MHO#T YacTi norpeduTtesieii, MOMPOCTY MPOBAJIUBAIOTCH
B IIPOIasKe.

5. Hznopupoeanue npobaemvt dedpuruma epemenu.

[To nannbiv BCG keniuHbl Ha3bIBAlOT CBOEH OCHOBHOI 11P006-
nemoit HexBaTky Bpemenu. [IpousBoauTesnn ynyckaioT U3 BHU-
MaHus U TOT (haKT, YTO COBPEMEHHAs JKEHIIIHA KUBET B MMOCTO-
STHHOM COCTOSIHHUHM 1EUTHOTa, B GOJIbIIEN CTEIEHN ATO KacaeTcs
paboTaloNX 3aMYKHUX KeHIIUH. XOTs B COBpeMeHHOM obiite-
cTBe My KuMHBI 6epyT Ha cebs Bce 6OJbIe OTBETCTBEHHOCTH 32
BOCIIUTAHNE JleTell ¥ BeJleHMe JIOMAlTHero Xo3sicTsa, Bce 310
MO-TIPEJKHEMY OCTaeTcsi peporaTiBoit skeHuwHbl. [ToaTomy pabo-
Talomast KEeHIMHA HYK/IaeTCsl B TOBapax M yCJyrax, mo3BoJisiio-
HIAX MAKCUMAJIbHO COKOHOMMUTD BPEMSI.

http.//www.rb.ru/article/mujchiny -nedootsenivayut-rol-jenshhin-v-eko-
nomike/6246157 html

2. Write a summary of the article Russia economic structure
(100 words). Use the plan given below:

Thesis statement (the main idea of the text)
Main points of para 1
Main points of para 2

Conclusion
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E ‘ Russia economic structure
The economic structure that exists in the Russian Federation
ay was created mostly as a consequence of decisions mad
gring the prior economic regime. L g
. For nearly 60 years, the Russian economy operated on the
sis of centralized planning where the Russian state govern-.

t controlled virtually all means of production, investment
‘consumption decisions throughout the economy. Economic
cy was made according to directives from the Communist
¥, which controlled all aspects of economic activity. The

s. Crit.ica]. elements such as privatisation of state enterprises
extensive foreign investment went into place in the first few
of the post-Soviet period.
ut other fundamental parts of the economic infrastructure
€h as commercial banking and authoritative, comprehensive,
mgrmal laws, are still lacking in Russia today, limiting its
dtential growth and ability to attract and sustain investments
Russia Economic Structure: The Road Ahead ,
Although Russia is well placed in its path to economic growth
~development, given the feeble global economy, it needs to
e lessons from its 1998 crisis to avoid the pitfalls of debt and

“.fit}? mterest rates set to decline further and bank deposits
Hnuing to grow, Russian financial institutions are also like]
festart their credit facilities and reorganise their c 4
1d Investment banking policies.

http./ /www.ec vatch.c . ; p .
: .hfm/l/ onomywatch.com/world_economy/russia/structure -0f-eco-

onsumer



